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ESS -3 A =] H22.3.8 H22.3.8 H22.3.8 9 MEEMLOBRB S 969 1,015 1,146
] # B OB % A W WMEESKLERS
3
& B B # A 1 2 = Iz b3 i 1,013 1,146 1,355
E — N
N a " R 12 BEEICRBT N E j
B R
£l g S % 90.0 90.0 90.0 13 = =3 g b3 i-j 1,013 1,146 1,355
@ #®oX L B F M A XK % 52.2 50.0 52.2 14 LEERBRALES 11, 256 11, 406 11,377
E
B X B X B @& X % 389.1 389.1 389.1 PR 2 £ RN B A £ 10, 590 10, 588 10, 656
BA n pid A a A 15 R " 2] % b+e+h 12,898 12,932 12, 843
-
—A BF Kk o B = m3 16 A B B E & 48,538 39,913 30,916
EL) A H I =] (BEEZEHKER) EL)IE
2
Hix # & B i =] 213.6 215.4 213. 8]
K& n pid 3 i =] 292.2 304.6 281. 8
L
m3 5 b & KA B M
Ly 5 5 ¥ 5 & M
%A B & #® 5 =
04 b3 h F = 50.1 45.6 414
e ) il - 13.5 14. 4 15.3
% 3 7 - 25.4 28.5 31.8
% Iz b2 4 #z 265.3 284.4 318. 9
- In % Mool X o E 95.2 94.7 95. 5
=1 * iz b3 4 #z 73.1 70.7 74. 3
CEES —
Tt E@FETHEES 628. 1 639.0 632.1
| owm A
S B B8 # 5 B
% | ¥ %
b3 h F = 137.6 118.5 95.0
O E




(&% : M)

Sikz e B W (RESEHKESR FRE it EBEINER 4 6 0 8 Fih
TEL 0428—87—-0111 (FRI#R)
$ % B % &£ A @ THAEARTE N FE s Ri%E R
1 % Iz E23 a 7,314 9, 660 9, 092!
FE iy .
X4 H30EE RIEE R2EE - T Kk & & A #H 620 594/ 563
2
T B B B W A 0O A 713 715 693 2 % I T I O#
|y
S *® it B A a B 250! 250 250 1@ A 6,694 9, 066 8, 529
BEELEREBERNAD C 49 48 49 M| 2 % # )il b 3,029 5,109 3, 685!
= & £ A % 6.9 6.7 7.1 - -7 =1 # 5
|3
= & £ B % 19.6 19.2 19.6 2 5 T =
5
T ok B i B E R km 1 1 1 % * #h # -} 1,085 857 653
& B n i) B il m3/8 83 83 83 3 L FOE MR & a-b=c 4,285 4,551 5, 407
BEL [ x B m3/8 83 83 83 4 E A M I A d 434 678 473
&
BN m X B m3/%% 5 & * &
AL [ x B m3/8 76 106 81 * 5 1@ 4 434 678 473
HkE M B m3/% M| 5 E A M X H e 4,485 5,003 4,770
REBRAHFEHQLEKE m3/8 43 43 47 w3 B % % R & 320
£ M B L B K = m3 15, 752 15,729 17, 245 5 Tt ¥ @& # & f 4,485 4,683 4,770
3
-3 i £l iz K =2 m3 15, 752 15,729 17, 245 6 Jild % = Ell d-e=g A 4,051 A 4,325 A 4,297
X E H ( 2m3/ A ) =] 2,520 2,520 2, 520 7 Jild b3 B = Ell ctg 234 226 1, 110]
#
X% A ( 100m3/ A ) A 8, 400 8, 400 8, 400 8 i v & h
&
ES =3 A =] H22.4.1 H22.4.1 H22.4.1 9 MEEMLOBRB S 363 597 823
B % B B OB % A 0 WMEESKLEARS
B
& B B # A 1 2 = iz b3 i 597 823 1,933
E — N
N a " R 12 BEEICRBT N E j
B R
£l g = % 100. 0 100. 0 100. 0f 13 = =3 g b3 i-j 597 823 1,933
@ #®oX L B F M A K % 51.8 51.8 56. 6 14 LEERBRALES 7,128 9,744 9, 002!
T
B X B X BE@® X % 91.6 127.7 97. 6 35 2 £ RN B A £ 5,004 5,540 5, 423
BA n pid A a A 15 R " 2] % b+e+h 7,514 10, 112 8, 455
-
—A BF ok o B = m3 16 A B OB E B 21,338 16, 655 11, 885
EL) = B H I =] (BEEZEHKEE) NEM
P
Al B B O M 39. 4 37.8 32.6
K& n pid I3 i =] 159.3 270.3 175.8
L
1m3 5 b & X & A 34.0
Ly 5 5 ¥ 5 & M
#A B & #® 5 =
04 b3 ih F = 34.8 16.8 17.7
a3 ) il # 23.4 14.0: 17.8
% 3 7 - 36.3 65.8 59. 9
% I b2 4 e 241.5 189.1 246. 7
- I #® Mool X o E 97.3 98.7 107.5
=1 * iz b3 4 =z 31.4 14.0: 18.6
CEES —
Tt E@FETHEES 893.5 932.7 963. 2!
| owm A
S B & # 5 B
% | ¥ %
b3 h Fl = 170.2 144.3 116. 0|
O E




